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Instructions to the candidates:

1)  All questions are compulsory.
2)  Figures to the right side indicate full marks.

Q1) Attempt any One from (a) and One from (b) in about 150 words each: [16]

a) 1) How did the power of prayer play a powerful role in A. P.J. Abdul
kalam's life?

i)  Why does C.V. Raman call water the true elixir of life?
b) 1)  How do persons in th field of advertising earn their livelihood?

i) Comment on the humour in '"The gold frame?

02) Attempt any One from (a) and One from (b) in about 150 words each: [16]

a) 1) Describe the fantasy of the couple on the possibility of winning the
lottery.

i)  What is the present condition of harp?
b) 1)  According to D.H. Lawrence, why do people run after money?

i)  You have invited your classmate for a family function. Introduce
him/her to your family members and vice-versa. Write a ten line
dialogue.

03) Attempt any One from (a) and One from (b) in about 150 words each: [16]

a) 1) Do you think Indra Nooyi is a role model for people who want to
enter the world of finance? Give reasons for your answers.

i) How does murthy urge the students to pursue excellence?
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What, according to author is the 'American national Expression'
and why?

According to N.R. Narayana Murthy, what are the negative aspects
of bureaucracy in India?

04) Attempt any One from (a) and One from (b) in about 150 words each: [16]

a) 1)  Explain the significance and symbolism of the woodrose creeper in
the story.
i)  Why does Rakesh's father complain about his diet to Bhatia?
b) 1)  Why does the narrator decide to continue his journey despite the
beauty of the woods?
i)  Why does Sarojini Naidu wish to experience both joy and pain in
life?
05) a) Attempt any one of the following: [8]
i)  Write a letter to your friend congratulating him on his success in the
C.A. Final exam.
i)  Write a brief newspaper report of two short paragraphs on the
following headline.
Clean India Drive Undertaken by N.S.S. Students
b) Attempt any one of the following: [8]
i)  Write a resume for the post of Marketing manager in ABB Ltd,
Nashik.
i) Write an email to your college Librarian at the email id-
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collegelibrarian @gmail. Com. requesting him to buy books of your
favourite authors.
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FINANCIAL ACCOUNTING
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[Max. Marks :80

Instructions to the candidates:

Q1) A)

1)  All questions are compulsory.

2)
3)

Figures to the right indicate full marks.
Use of calculator is allowed.

Fill in the blanks. (Any five) [5]

i)

Under Piecemeal distribution of cash "Highest relative Capital
Method" is

a)  Surplus Capital Method
b) Maximum Loss Method
c) Notional Loss Method

In conversion of a Partnership into Limited Company, very important
point to be considered is the calculation of

a) Total Liabilities

b) Total assets

c) Purchase Consideration

Voucheris  in which details of transactions are recorded.
a) Secondary document

b) Primary Document

c) Pre-package of Accounting

Accounting standards are  documents.

a) Primary documents

b) Policy documents

c) Important documents
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v)  Short Working = Minimum Rent —
a) Royalty
b) Interest
c) Purchase Price
vi) Until  instalment is paid, in case of Hire purchase system,
buyer does not become the owner.
a) First
b) Second
c) Last
vii) Under departmental system some expenses cannot be allotted on
the reasonable basis they are debited to
a) Trading Account
b) General Profit and Loss Account
c) Profit and Loss Account
B) State whether following statements are true or false (any five) [5]
i)  Incomputerised Accounting Environment the processing of financial
information will be done by one or more computers.
i)  Partner loan if any are paid out before payment of outside liability.
iii) All the Assets and Liabilities not taken over by the new firm are
transferred to the capital account of the firm.
iv) AS-4 stands for Contingencies and Events Occurring after Balance
Sheet date.
v) Royalty means amount paid by lessor to lessee.
vi) Bad debts are charged to General Profit and Loss Account since
no proper basis of allocation is provided.
vii) The buyer has option to return the goods in case of Hire Purchase.
C) Write short notes on (Any two) [14]
i)  AS-2 Valuation of Inventories.
i) Advantages of Amalgamation.
iii) Order of payment in piecemeal distribution.
iv) Hire Purchase System.
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02) A, B and C were in partnership sharing profit and losses in the ratio 2:1:1.
They decided to dissolve the business on 31 Dec. 2015 on which date their

Balance Sheet was as under. [14]
Balance Sheet
Liabilities Amt Assets Amt
Capital Cash 10,000
A 1,00,000 Debtors 90,000
B 55,000 Stock 85,000
C 25,000 1,80,000 Plant and Machinery| 65,000
General Reserve 20,000 Land and Building | 1,55,000
Income Tax 10,000
Creditors 1,17,000
Bills Payable 78,000
4,05,000 4,05,000

The assets were realised on piecemeal as follows:
1.1.2016  Rs. 15,000
31.1.2016 Rs. 2,11,000
20.2.2016 Rs. 82,000
31.3.2016 Rs. 58,000
It was agreed that the cash should be distributed as and when realised.

Dissolution expenses were originally provided for an estimated of Rs.
5,000. The actual expenses amounted to Rs.4,000 spent on 31 March
2016.

Prepare
1) Statement showing surplus capital

2)  Statement showing Distribution of cash

OR
A and B are partners sharing profits and losses in the ratio 3:1 and C and
D were partners sharing profits and losses in the ratio 1: 1. [14]
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Following were their Balance Sheet as on 31/12/2015

Liabilities A&B| C&D Assets A&B | C&D
Creditors 10,000 15,000 | Plant and Machinery | 20,000 [27,000
Bills Payable 4,000 8,000 | Furniture 12,000 | 9,000
Mrs. B's Loan | 10,000 -—- | Stock 20,000 {24,000
Mrs. D's Loan --| 7,000 | Debtors 19,000 | 17,000
Outstanding Rent 2,000| 1,500 | Fixture 1,600 | 1,200
Capital Account Cash in hand 3,400 | 3,300
A 30,000 -
B 20,000 -
C --125,000
D 25,000

76,000 (81,500 76,000 [81,500

The two firms amalgamated on the following terms:

i)  Mr B agreed to pay Mrs. B's Loan and Mr. D. agreed to pay Mrs. D's
Loan.

i)  Outstanding Rent was paid in full by respective firms.

iii) Creditors and Bills payable of both the firms were taken by the new firm
at a discount at 5%

iv) Plant and Machinery is subject to 5% depreciation of both the firms.

v)  Furniture of C & D was sold in the market for Rs. 8,000 and Furniture of
A & B was not taken over by the new firm.

vi) Fixtures were not taken over by the new firms.

vii) Stock of A & B was valued at Rs. 22, 100 and stock of C & D was
valued at Rs. 21,000. You are required to prepare Revaluation Account,

Partner's Capital Account in the books of both the firms and Balance
Sheet of new firm.

03) A) X,Y and Z were in partnership sharing profit and losses in the ratio 4:3:1.
Their Balance Sheet as on 31% of March 2016 is as under when they
decided to convert their firm into Limited company

Liabilities Amount Assets Amount
Capital X 1,00,000 | Premises 90,000
Y 75,000 | Plant and Machinery 60,000

Z 65,000 | Sundry Debtors 75,000

Bank Loan 20,000 | Stock in Trade 65,000
Sundry Creditors 40,000 | Cash 10,000
3,00,000 3,00,000
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The newly formed company took the following assets and Liabilities at
the values agreed upon:

Premises Rs. 1,10,000, Plant and Machinery Rs.55,000, Sundry Debtors
Rs. 70,000, Stock Rs. 60,000, Goodwill Rs. 20, 000 and Creditors Rs.
38,500. The company paid Rs. 1,67,500 in fully paid shares at Rs. 10
each and Balance in cash.

Realisation expenses Rs.2500

You are require to:

i)  Calculate amount of Purchase Consideration.

i) Realization Account [8]

B) Gopal Mining Co. Ltd. took a mine on a lease at a Royalty of Rs.1 per
ton. The minimum rent was fixed at Rs. 4,000 for first year, Rs 6,000 for
second year and Rs. 8,000 per year thereafter. Short workings of any
year could be recouped out of the Royalties of next two years only. The

production during the first 5 years was as follows: [14]
Year Output in tones
1 2,000
2 4,500
3 6,000
4 9,000

Pass the necessary journal entries in the books of Gopal Mining Co. Ltd.

04) On 1- 1-2013 A purchase a tempo from B Ltd. on Hire Purchase system and
paid Rs.1,00,000 against delivery on 1% January 2013, They paid the following
instalments including interest @10% p.a. on cash price. [20]

31 Dec. 2013 Rs. 1,30,000
31* Dec. 2014 Rs. 1,20,000
31 Dec. 2015 Rs. 1,10,000

A Ltd. Charged depreciation on tempo (@ 20%p.a. under original cost method.
Cash price of tempo is Rs. 4,00,000
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You are require to prepare following accounts in books of A Ltd.
i)  Working notes
i) Machinery Account
iii) B's Account
OR
From the following Trial balance as on 31-3-2016 of Radhyeshyam
Departmental Store Ranchi prepare Departmental trading Account, Profit and

Loss Account for the year ended [20]
31% March 2016 and a Balance Sheet as on that date.
Particulars Debit Credit
Stock 1.4.2015
Dept. A 30,000
Dept.B 24,000
Purchases
Dept.A 56,000
Dept.B 48,000
Sales
Dept.A 1,20,000
Dept.B 1,00,000
Wages
Dept.A 15,000
Dept.B 5,000
Rent, Rates and Taxes 18,000
Salaries 6,000
Lighting and Heating 3,600
Discount Allowed 4,400
Discount Received 2,600
Sundry Expenses 6,000
Advertisement 7,200
Carriage Inward 4,200
Furniture 6,000
Machinery 40,000
Debtors 12,000
Creditors 32,000
Capital 61,800
Drawing account 8,000
Cash at Bank 20,000
Cash in hand 3,000
Total| 3,16,400 3,16,400
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The following information is available:

i)
if)

Vi)

[5258]-1002

Dept. A transferred goods to Dept. B for Rs. 800

The items like Rent, Rates and Taxes, Sundry expenses, Lighting
and Heating, Salaries and Carriage Inward to be apportioned %4 to

Dept. A and ¥ to Dept. B.

Advertising to be apportioned equally

Discount Allowed and Discount Received are apportioned on the
basis of Departmental Sales and Purchases (excluding transfers)

Depreciation @10 % p.a. on Furniture and Machinery is to be
charged ¥, to Dept. A and ), to Dept. B.

Stock as on 31.3.2016 Dept. A 33,000 and Dept. B 24,000
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F. Y. B. Com. (Micro)
BUSINESS ECONOMICS

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3) Draw neat diagrams wherever necessary.

Q1) Explain the Economic and Non-economic goals of firms. [16]

02) What is Elasticity of Demand? Explain the types of price Elasticity of Demand.
[16]

OR

State the Internal and External Economies of large scale production.

03) Answer in brief:- [16]
a) State the features of monopoly.

b) State the concept of total Revenue, Average Revenue and marginal
Revenue.

OR
Answer in brief:
a) State the features of oligopoly.

b) Explain the Risk and uncertainty Bearing Theory of profit.

04) Discuss the Recardian theory of Rent. [16]

PTO.



05) Write short notes (Any Two): [16]
a) Backward sloping supply curve of Labour.
b) Motives of liquidity preference.
c) Features of monopolistic competition.

d) Innovation Theory of profit.

®E R
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F.Y. B.Com.

BUSINESS MATHEMATICS & STATISTICS

(2013 Pattern)
[Max. Marks :80

Instructions to the candidates:

01) A)

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3)  Use of logarithmic tables and calculator is allowed.

4)  Both the sections should be written in the same answer - book.
SECTION- 1

Answer the following multiple choice questions by selecting correct option

from the given options (any four) [4]

i) H.C.F. of 11, 13, 31 is

a) 4433 b) 1

c) 3344 d) None of these
If X =42 x 32 then X =
a) 4 b) 12
c) 144 d) None of these
2.3,
3 4

8 L6
D9 T

1
c) 1 d) None of these
A student scored 180 out of 900 marks, his percentage is
a) 90 b) 18
c) 20 d) None of these

PTO.



B)

v)  The mean proportion to 5 and 20 is
a) 25 b) 100
c) 10 d) None of these

vi) XandY invested¥ 6,230 and ¥ 6850 in the business. If they realised
a profit of ¥ 13,080, the share of X will be ¥

a) 6,850 b) 6,230

c) 6,516 d) None of these
Answer the following multiple choice questions by selecting correct option
from given options (any two) [4]
i) L.CM.of1l, 31,6l is :

a) 20,801 b) 1

c) 103 d) None of these
ii)  The value of (10)* x (10)° is .

a) 10,000 b) 10

c) 1,00,000 d) 100

iii) A, Band C started a business with capital investment of% 10,000,
% 5,000 and % 5,000 for 2 months, 4 months and 4 months
respectively. Their profit sharing ratio will be

a) 122 b) 2:1:1
c) 234 d) None of these
02) Attempt any two of the following: [8]
a) Find the simple interest on ¥ 17,500 at 6% p.a for 5 years.
b) Find compound interest on % 11,000 at 7% p.a for 2 years.
c) Mr. X invested % 12,400 in 12.4% shares at ¥ 124. How much dividend
will be get?
03) Attempt any four of the following: [16]
a) Define the term statistics. Explain its scope in Management science.
b) Explain SRSWR Method.
c) The following is the distribution of marks of student in a class.
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d)

Marks

0-10

10-20

20-30

30-40

40-50

No.of students

23

33

42

i)  Find the class mark of 3™ class.
ii)  Find the class width of 2" class.

iii) State the class boundaries of 4" class.

iv) State the type of classification.

From the following information find mode graphically.

Income (X '000")

35-40

40-45

45-50

50-55

55-60

No.of workers

1

6

8

6

2

Find median for the following frequency distribution.

Marks

50-55

55-60

60-65

65-70

70-75

No.of Students

8

10

14

8 5

Calculate mean and median for the following data.
2,13,7,18,28,5,22,17,7, 14, 3.

SECTION - 11

04) Attempt any three of the following:

a)

b)

c)
d)

[12]

When a commodity is sold for ¥ 34.80, there is a loss of 25%. What is
the cost price of commodity.

1
An article marked at ¥ 10,400 is sold at a discount of 125%. If the

dealer gained 30%, find the cost price.

Explain the steps for formulation of L.P.P.

Solve the following L.P.P. by graphical method.

Maximise Z = 2x +5y
Subjectto: 2x+y <60
xty<45and
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05) Attempt any three of the following;: [12]

a) Explain the concept of marked price and selling price.

b) If4 articles are sold at a cost of ¥ 5, find the percentage gain.

c) Sunil sold a motor cycle to Anil at 11% profit. Anil sold if to Raju at 9%
profit for ¥ 54,500. Find the price at which Sunil has purchased the
motor cycle.

d) A company manufactures two types of printers A and B that requires
treatment by the machines, processor and finisher. Each unit of printer
A requires 4 hours of processor and 2 hours of finisher; while that of B
requires 2 hours of processor and 4 hours of finisher. The availability of
processor and finisher is 50 hours and 40 hours respectively. The profit
per unit of printer A is ¥ 1000 and that of B is ¥ 800. Formaulate the
problem as L.P.P. to maximise the profit.

06) Attempt any four of the following: [16]
a)  With the help of following data calculate fisher's price Index Number.
Commodity Year 2016 Year 2015

Price Quantity Price | Quantity
A 10 4 12 4
B 12 3 11 2
C 15 2 14 3
D 18 3 15 1

b) Following are the ranks given by two teachers to their students. Calculate

Spearman's Rank Correlation Coefficient.
Roll No. | Ranks by teacher A | Ranks by teacher B
1 6 5
2 2 3
3 1 2
4 3 1
5 4 6
6 5 4
c) Calculate standard Deviation for the following data.

Class 0-20 20-40 | 40-60 | 60-80 | 80-100

Frequency | 5 12 32 40 11
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d) Explain the concept of correlation with example.

e) Information of shares of two companies is given below.

Company A | Company B
Mean Price () 200 230

Standard Deviation of price (%) 21 18

which company's share prices are more stable?

f)  Calculate Range and coefficient of Range for the following frequency
distribution:

5,3,8,4,12,42, 15, 63, 23, 23, 64, 78, 77, 21.

07) Attempt any one of the following: [8]
a) Find Karl pearson's coefficient of correlation between X and Y.

X | 28 |45 | 40 | 38 | 35 | 33| 40| 32 | 36 | 33

Y | 23 34 | 33 34 | 30 | 26| 28 | 31 36 | 35

b) 1)  Given the following data:

Rainfall (in cms) Production of a commodity (in quintals)
Mean 45 65
S.D. 10 8

The correlation coefficient between rainfall and production is 0.80.
Estimate the production of a commodity when rainfall is 60 cms.

i)  Explain the concept of Index Number.

R R
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F. Y. B. Com.
COMPUTER CONCEPTS AND APPLICATIONS

Computer Fundamentals

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Both sections should be written in same answer books.

SECTION -1

Q1) Attempt any four of the following. [4 x2=8§]
a)  What is computer virus?
b) Define wordpad.
c) How to create slides in Ms-Power Point?
d) Define MAN.
e) Define Data processing.

f)  Define free and open source software.

02) Attempt any four of the following. [4 X 4 =16]
a) How to keep your computer safe from cyber Attacks.
b) Explain structure of windows.
c) How to do wallpaper and screensaver settings on computer?
d) Write short note on MS-Power Point.
e) What are the types of computer network?

f)  Whatis the difference between Sequencial and Random File Organisation?

PTO.



03) Attempt any four of the following. [4 x 4 =16]
a)  What is the difference between primary & secondary storage memory?
b) Explain following terms.

i)  Hard Disk

i) C.D.
c) How to add and remove new programs using control panel?
d) How to use clipart, wordart and pictures in Ms-Powerpoint.
e) Explain following terms.

i)  Ring Topologies

i) Mesh Topologies
f)  What is the Role of E-Commerce?

SECTION - 11

04) Attempt any four of the following. [4 x2=8§]
a) Define Web browsers.
b) What are the uses of E-mail?
c) Define SET (Secure Electronic Transaction)
d) Define URL (Uniform Resource Locator)
e) Whatis page Margin?

f)  How to download the documents from websites?
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05) Attempt any four of the following. [4 x 4 =16]

a) Explain the basic concept of E-mail.
b)  Write short note on financial EDI.
c) Explain advantages and disadvantages of Electronic payment system.
d) What are the steps in digital signature process?
e)  Write short note on Electronic clearing system (ECS)
f)  Explain the types of Images.
06) Attempt any four of the following. [4 X 4 =16]
a) Explain dynamic web page.
b) Explain sound effect in detail.
c) What are the Internet privacy and Ethical issues?
d) Explain the basic concepts of Electronic Fund Transfer (EFT)
e) Explain the use of <table>tag in HTML.
f)  Explain uses of Internet.

W R
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do: 3 ara] [Tzor U7 80
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T - 1
777 1) GEIeTaeh HUTaE IR T9 WA [4x2=8]
3) HITTEX FERH TEUT i ?
T) Wordpad =it sarear =m.
&) Ms-Power Point a=a Slides semuesnit sire.
g) MAN =it sgmeEa =
3) Data processing =it sawean =m.

w) Free and open source software =it =t =m.



T97 2) YETUehl STl TR 9 |IgaT [4 % 4=16]
at) Cyber Attacks urga goer Computer weTmeri giierm 3are ?
a) Structure of Window oz .
%) wreRrer Wall paper emifor Screensaver =it Setting &% w.
g) Ms-Power Point feur fergr.
3) Computer network = TR &M= 3TEa.

w) Sequential and Random File Organisation wefiet wes ¥a® .

97 3) GEIeTdch! hIUTAE TR T3 |rgan [4 x 4 =16]

a1) Primary memory & secondary storage memory amdie wieh g
.

q) e O3 TE &,
1) Hard Disk
ii) C.D.
&) Control panel #=ar add and remove new program TR FHE.

g) Ms-Power Point m=a Clipart, Wordart and pictures smaesr
A,

3) WIS |31 T &
1) Ring Topologies
i1) Mesh Topologies

w) E-commerce =t Role &= a1,
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fawm - 11
T97 4) YETUehl ST TR 9 |IgaT [4 x 2 =8]
1) Web Browsers &3 Tz .
@) E-mail = swam w@ o,
&) Secure Electronic transaction = @3 TIg .
g) Uniform Resource Locator =it @ wug .
3) Page Margin wgurt %= ?

w) Website @& documents download s& s,

97 5) YEtera<hl ShIUTAE! OR U9 |igan [4 x 4 =16]
#1) E-mail =t Basic @eut g &,
7) Financial EDI == aeemama feu o,
&) Electronic payment system = wm&e a d1¢ I .
g) Digital signature process =am ura=ar &M a1 o forgt.
3) Electronic clearing system (ECS) == urseam feu ferar.

%) Images = T&R Tg &.

[5258] - 1005 6



T97 6) GETTUhT SHIVTAET IR T9 |rsan [4 x 4 =16]
a1) Dynamic web page e .
7) Sound Effect o= =.
&) Internet privacy = Ethical Issues & smga o @,
g) Electronic Fund Transfer =t @eheut wug .
3) <Table> tag = su=m g w.

w) Internet = Su=wT TP AT,

W R
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F. Y. B. Com.
OFFICE MANAGEMENT

Organisational Skill Development

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define the term 'Office' Explain in detail the factors of Good Ambience. [16]

02) What is 'Office Organisation'? Explain the types of 'Office Organisation.[16]

OR

Define the term 'Time Management'. Explain the need a principles of time
Management.

03) a) What is 'Office forms'? Explain the types of Office forms. [8]
b) Explain the importance of stationary as well as principles of purchase of
stationary. [8]

OR
a) Explain the objectives & kinds of Office Record. [8]
b) Explain the principles of retention of Office Record. [8]

04) What is 'Communication'? Explain in detail the Recent trends in modern
communication. [16]

PTO.



05) Write short notes (Any Two)

a)
b)
c)
d)

[5258]

Nature and objectives of public Relation.
Role of public Relation Officer.

Meaning & advantages of Office Automation.

Computerisation of Office activities - LAN & WAN.

®E R

- 1006 2
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‘AbY SHTEATUA AT HehoU-el SATEHT T, BT SHAEATIATH TS o ded T

.

gy7 3) ) ‘HETEEE YU’ TEUN T ? RO JUSTe YRR TISE . [8]
q) HETEHN TEH AR g T . a8 @ At SREe acd

T . 8]
e

1) wETeEA AfierETe 3 AT TR TUE . [8]

¥) erfirerm waATe fafay e wog @, [8]

97 4) “FeEga TEUS hid ? SR HEITagATd e HeIehTeii= JaTg Ao’ T . [16]



797 5) dresaa dun forgr. (Homdt 2)
A) THAEURT TEY 9 3T

) AAEUh AfRTAT qiHeR
®) HEATAHT TEIaeteRuTeT 3t rTfur wrae

) HEATAA IRl SUThIRIUT wiF & a4 (LAN & WAN).

®E R

[5258] - 1006 4
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Total No. of Questions : 5] SEAT No. :

P167 [Total No. of Pages : 4
[5258]- 1007

F. Y. B. Com.
BANKING AND FINANCE

Fundamentals of Banking

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define Bank. Explain the evolution of Banking in Asia. [16]
02) Explain the primary functions of a Bank. [16]
OR

Explain the Methods of Remittances.

03) a) State the norms and need of know your customer (KYC). [8]
b) Explain the Balance sheet of a Commercial Bank. [8]
OR

a) State the types of endorsement.

b) Explain the need and importance of technology in Banking.

04) Explain the meaning and characteristics of promissory note and Bill of
Exchange. [16]

PTO.



05) Write short notes on (Any Two)

a)
b)
c)
d)

Conflict between Liquidity and profitability.

Limitation of multiple credit Creation.
Types of crossing.

Net Banking.

®E R

[5258] - 1007 2

[16]



Total No. of Questions : 5]

P167
[5258]- 1007
F. Y. B. Com.
BANKING AND FINANCE
Fundamentals of Banking
(2013 Pattern)
(vt wUTaR)

dz: 3 ara] [Tgor 70T - 80

Jaqar ;- 1) @F T97 AISIA0 Sa99% HATEA.
2) ITEIHSIT 3 QT T AT
3) @gHIATST Jo& U1 FPATlET TETa,

o7 1) Seheit SATEAT WRTT. ATRETAIA deh SATETEAT Iehidl TIE H.

97 2) dehet WTUTHw 1 TIY .
TRt
TN uTsfavaTsar uLadt T &,

g7 3) a1) ‘asruen yrgew wwE T (KYC) =it et enfor Fem @wm.

¥) AN Fohdl ATReg U &,
e
3T) YSTRAT TR E.
q) oAk AATET TS ATIOT ITGSFAAT TIY .

97 4) seaa aafur fafmeas e ot enfur &ty wow =,

[16]

[16]

8]
8]

[16]



Ty 5) &t fergr. (hioreargl &)
1)  TEAT AT ATHIEAT AreaTdie g femie

) FgAY gaEHdr T
®) TR A
) ¥ AT

®E R

[5258] - 1007 4

[16]



Total No. of Questions : 4] SEAT No. :

P168 [Total No. of Pages : 4
[5258]- 1008

F. Y. B. Com.
COMMERCIAL GEOGRAPHY

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2) Neat digrams must be drawn wherever necessary.

3)  Use of map stencils is allowed.

Q1) Answer the following upto 20 words each. (Any Ten) [20]
i)  What is Physical Environment?
i)  State any two names of Tertairy Economic Activity.

i) Give any two names of approaches to the study of commerical
Geography.

iv) What is meant by Tidal Energy?

v) State any two names of Trees in Coniferous Forest.
vi) State any two disadvantages of under population.
vil) What is meant by Resources.

viii) Give any two factors affecting Industrial location.
ix) Name any two hill stations in India.

x) State any two advantages of Air Transportation.

xi) What is Tourism.

xil) Write the types of Bar Graphs.

xiil) State any two products that are exported by India.

02) Answer the following upto 50 words each (Any two) [10]
i)  Scope of commercial geography.
i) 'Stop and Go theory'.
i) Agro-Tourism.

iv) Choropleth method.

PTO.



03) Answer the following upto 150 words each. (Any two) [20]
i)  Explain Any two approaches to the study of commercial geography.
i)  Explain the characteristics of plantation farming.
i) Give an account of Geographical factors affecting trade.

iv) Give an account of Geographical factors influencing tourism.

04) Answer the following upto 300 words each. (Any two) [30]
i)  Explain the factors of physical Environment.
i)  Explain the population characteristics of India.
iii) Compare the various modes of transportation.

iv) Explain the Weber's theory of Industrial Location.

R R
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Total No. of Questions : 4]

P168
[5258]- 1008
F. Y. B. Com.
COMMERCIAL GEOGRAPHY
(2013 Pattern)
(vt sUTaR)
;3 ara] [Tzor 7or - 80

AT ;- 1) @F T qSlavt Sravad 3Tg.
2) T =T BHTON A SiTgedT HiaEl.
3) T RIHed qravvaTd WaTT g,

o7 1) Wette TeaTet Tedeht 20 vrsgma S forgr. (Shroragl 22n) [20]
i) TTRfae TATARUT TEUTS T ?
i) e SufeaT RIUTETE S SATfeie g A1 |,
iil) SATIT SFATEAT HIVTATE I AETH Yegd il T g,
iv) W SATCUET TR TR 39T FgUR hid ?
v) gfauull sRuITdie ShIvTeTet g Jetre A1 |n .
vi) “gAAH SIREEIY UM 2 a1 @i,
vil) HTIAHUET TEUTS T ?
vill) STRTEEATEAT TATHeR fhIUTTaR TUTTH ShIUTR <hIUTAET S T2k T,
iX) WRATATS SR S 9 garet fawmor @,
X) FATS ATgqehT™ hIUIAE G WaQ |,
xi) uded TEUS wwE?
Xii) TUTAETe TR T
xii) WReATA fata o SRuHE g9 Seated |im.

97 2) @reiie gl Uedeht 50 vreera S forgt. (soradl 2m) [10]
i) AU ETeTE ST,
i) ‘erram smfor s faegra.’
i) A - wie.
iv) BT,



¥y 3) @refter eAtel Tkt 150 et IW forgr. (ol E) [20]
i) AU YT HIVIETE g ATHULET TIY .
i) WG Vet AT T w0
iil) SATIRTER URUTH HUTR WRTTeTeh g2 TIY .
iv) UdedATaR URUMA SHUTR WMo Teeh TI8 .

797 4) Trefter SeAre ekt 300 veaTa I ferer. (RuTEt €) [30]
) YTHTH TETERUTE Hew T W
i) YR ATRHGEET AT T w0,

iil) aTgqehrea fafay W gET .
iv) ST STRTHEaTeAT TRt fasga Ty &,

® R R
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Total No. of Questions : 4] SEAT No. :

P169 [Total No. of Pages : 4
[5258]- 1009

F.Y. B. Com.
DEFENCE BUDGETING, FINANCE AND MANAGEMENT

Defence Organization and Management in India

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer in 20 words each (any ten): [20]
i)  Define Defence budget.
i)  What do you mean by Integrated Defence?
iii) Define Intelligence.
iv) State the meaning of Artillery.
v)  Define air-power.
vi) What do you mean by logistics management?
vil) Write any two functions of BSF.
viii) Define strategy.
ix) What do you mean by Budgetary perspectives?
x)  What do you mean by Defence Mechanism?
xi) Write any two functions of Territorial Army.
xii) State the meaning of combat branches.

xiit) Write any two functions of signal corps.

02) Answer in 50 words each (any two): [10]
i)  Explain evolution of Indian Armed Forces.
i)  Discuss functions of Home Guard.

iii) Explain limitations of Infantry.

PTO.



03) Answer in 150 words each (any two):
i)  Write in briefrole of intelligence in maintaining national security.
i)  Explain various types of Aircrafts in Indian air-Force.

i) Discuss powers of President in relation to the Armed forces.
04) Answer in 300 words each (any two):
i)  Explain role of navy in national economy.

i)  Discuss relations between parliament and armed forces.

i) Explain characteristics of signal corps.

®E R

[5258] - 1009 2
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Total No. of Questions : 4]

P169
[5258]- 1009
FY. B. Com.

DEFENCE BUDGETING, FINANCE AND MANAGEMENT
Defence Organization and Management in India
(2013 Pattern)

(vt wUTaR)
ez 3 ara] [Tzor 7or: 80
gaar ;- 1) &d 97 QISEv Savae g,

2) IwdtBSier 3 guf quT FIAATa.

w7 1) 20 vragTa 3T & (SRIVTAEl &gm) [20]
i)  TREIUT STUSRT SATEAT TT.
i) 3FeRIes et U @ ?
i) “‘geerefea’’ (TEER IHAUM) SATEAT ST
iv) drEEET ot g .
v) ‘‘gardamed’’ sawedt .
Vi) YYEeT SAEETI U W ?
Vi) T GRET FATE RIUTATE G HE THg HA.
viil) ‘vt s g .
iX) ol THuwieg TN i ?
x) Tem wohfiem o w = ?
Xi) TR BATEATE HIVIIE! S & THg .
Xil) e e “ere g .

xiii) TerEreTshicH (Hueh J=UTEer) = RIS 9 HE THg .

T¥7 2) 50 vregTa SW TAT (RITAE ) [10]
) YRATEAT WY UATEATH! Icghidl T .
i) e AT (FHATEH) HrATaTad Tl ol
i) UTIGATEAT HATET FTUY .



777 3) 150 Ieqma I AT (R FH) [20]

i) T e ST TEuaTETSt THER IA0 (Feeterera) fHumaeret it
JrgeaTa faore =,

i) YRR gaTgeATdiel Sueey tered fafae foam ferweft wifEedt wow w0,
i) EYH BATGATSAT Wi WP SATferehrfers=it =rai .

797 4) 300 vTegTa IW AT (HIUTAE TH) [30]
) UEE rdaEITaT HeHia ATl iR T &

i) wEg MU T VATEHA AT TS TIY .
i) e s (Fuek g=om) = Sfrea T .

®E R
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Total No. of Questions : 5] SEAT No. :

P170 [Total No. of Pages : 4
[5258] - 1010

F. Y. B. Com.
CO-OPERATION

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define Co-operation. Explain the concept and objectives of Co-operation.[16]

02) Describe the principles of co-operation adopted by Manchester congress in
1995. [16]

OR

Critically examine the Gorewala committee report 1954.

03) a) Explain the role of National Co-operative Development Corporation
(N.C.D.C) of India. [8]

b) State the problems of co-operative education in India. [8]
OR
a) Explain the role of Central Government in co-operative movement.

b)  Write a note on Federation of co-operatives in India.

Q4) Describe various types of co-operative societies in India. [16]

PTO.



05) Write short notes (Any Two):

a)
b)
c)
d)

Objectives of co-operative education.
National council of Co-operative Training.

Strength of co-operative movement.

Federation of co-operatives in Maharashtra.

®E R

[5258] - 1010 2
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Total No. of Questions : 5]

P170
[5258]- 1010
F. Y. B. Com.
CO-OPERATION (¥g&R)
(2013 Pattern)
(vt sUTaR)
;3 ara] [Tzor 7or - 80

AT ;- 1) @F T qSlavt Sravad 3Tg.
2) ITHIHSIT e TP YU T FOAATA.

T97 1) ORIt SATEAT 1. HERRIE SeheT ATIUT IgE9T Afeem g &1, [16]

gy 2) wekel w1995 ued wefiehReiedn wgehit dearel quia . [16]
T
TrRaren @ttt 1954 o Rerreus ufteronr .

g7 3) a1) wRarde gget o wgmgetean (N.C.D.C) gfuss ==t =, (8]
q)  WRATAA FgeRrt rgromrean e @i, 8]
feRan
H) FEHN ASABI heg FTEATE et T8 .
) HRATIS @Y Tgehnt geen arer feu forar.

97 4) ARATdT Tgehrl Gt fafay e auia . [16]



Ty 5) drsarama feun fergr. (hroreatgt 39)
a1) gt e 3gEw
) YA ATt TieOT UREg
®) HRATAA HEhR Aoaebiel aoreem

¥) WENE TST Wghil €Y

®E R

[5258] - 1010 4
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Total No. of Questions : 5] SEAT No. :

P171 [Total No. of Pages : 4
[5258]- 1011

F.Y. B.Com.
ECONOMIC

Managerial Economics

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) State and explain the objectives of the firm. [16]
Q2) State the law of Demand. Explain the determinants of demand. [16]
OR

Explain the measurement of price elasticity of demand.

03) a) Explain the importance of elasticity of demand. [8]
b) Explain the profit maximisation theory of the firm. [8]
OR

a) Explain the investment decision for Research and Development.

b) Explain types of Short-Run Cost analysis for business.

Q4) State and explain the law of variable proportions. [16]

PTO.



05) Write short notes (Any Two): [16]
a) Multinational corporations.
b) Income elasticity of demand
c) Capital budgeting
d) Mergers

®E R

[5258] - 1011 2



Total No. of Questions : 5]

P171
[5258]- 1011
F.Y. B.Com.
ECONOMICS
Managerial Economics
(2013 Pattern)
(WSt waTaR)
ez 3 ara] [T 7O - 80
geqr ;- 1) @d T97 A9 e,
2) IwdtBSier 3 guf quT FIAATa.
3) @eufarst ge Ut w97 gl ugTE.
g7 1) sqaara A= ST AR I T . [16]
gy 2) unruiten fam forgr o armwie Fefte gew e w0, [16]
Tehan
urTuitent fohua eraterehar arua gegdt e w4,
97 3) ) HETUAT Aaehde Wged TI¥ . [8]
q) TET e fasga Wy« [8]

TeRa
) wviga 9 feemETEet aeves ot e w.
)  FACURTAN Tl [ITAIuITel ThR T .

g7 4) sgereat gamumen fFem gt @ e @,

[16]



T 5) drsarama dun fetgr. (Hhiorargt g9)
3) FEEE HEHES
) RO Iea= A feeRar
®) WEadTaT S

g) uod (feefiieton)

®E R

[5258] - 1011 4
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Total No. of Questions : 5] SEAT No. :

P172 [Total No. of Pages : 2

[5258] - 1012
F.Y. B.Com.
ESSENTIALS OF E-COMMERCE
(2013 Pattern)

Time :3 hours] [Max. Marks :80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3)  Give illustrations wherever necessary.

Q1) Whatis E-Marketing? What is the importance of E-advertising? Explain various
means of advertising. [16]

02) Define Internet? Explain its Role and procedure of registering internet Domain.
[16]

OR

What is E-ticketing? Explain any two booking procedures.

03) a) Define E-finance. Distinguish between traditional Banking & E-Banking. [8]
b) Explain following terms [8]
i)  E - distributor.
i)  Encryption.
OR
a) Explain the advantages of credit card.

b) Explain problems and opportunities in e-commerce in India.

04) What is EDI? Explain advantages and limitations of EDI. [16]

PTO.



05) Write short notes (Any two)

a)
b)
c)
d)

URL
Smart Card

B2C commerce

Scope and limitations of e-commerce.

®E R
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Total No. of Questions : 5] SEAT No. :

P173 [Total No. of Pages : 4
[5258]- 1013
F. Y. B. Com.
INSURANCE AND TRANSPORT

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What is Insurance. Explain the need and scope of Insurance. [16]
02) Explain the importance of transport in Economic Development. [16]
OR

What is Life Insurance? Explain various types of Life Insurance Policies.

03) a) Explain the career options in Insurance. [8]
b) Explain the role of tourist guide. [8]
OR

a) Explain the need of social security.

b) Explain various types of business risk.

04) Explain the role and contribution of tourism in economic development. [16]

PTO.



05) Write short notes (Any Two) [16]

a) Advantages of Air transport.
b) Functions of General Insurance.
c) Importance of logistics in Insurance.

d) Limitations of Rail Transport.

®E R
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Total No. of Questions : 5]

P173
[5258]- 1013
F. Y. B. Com.
e anfur amgae
(2013 Pattern)
(TSt Faiar)
ez 3 ara]
AT ;- 1) @F T qSlavt S1avas g,
2)  gwdiesier sie gATR qUf 7T FEAAT.

[wgor or: 80

gy7 1) form wgort s ? foram=it WS @ ST Ty .

97 2) eridieh faehramed amgeehiel Weea TIE .
feRan
SATHT TguTS e ? fommaem fafay ger wow w5,

g7 3) a1) T saEmETdie hRithd TUtE AT
q) U ARIGUIGhTE HIHeT I .
feran
) WHINH GGl TS I8 H0.

¥) FEETe wrade fafay ger e wa.

797 4) enidier foehramed weieAT=t Y o JrEE T .

[16]

[16]

8]
8]

[16]



Fo7 5) ot forgn (shroreatgt 3)
H) FETEATECR WS
7) weme forareh W

%) fomes aiiese vga
8) Yod ATgqeheal HATal

®E R
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Total No. of Questions : 5] SEAT No. :

P174 [Total No. of Pages : 4
[5258]- 1014
F. Y. B. Com.
MARKETING & SALESMANSHIP
Fundamental of Marketing

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the functions of marketing. [16]
02) Explain the factors of marketing environment in detail. [16]
OR

State the factors determining buyers behaviour.

03) a) Discuss-market logistics decisions. [8]
b)  Write short note on product life cycle. [8]
OR

a) Discuss 'Buying process'

b) State the importance of marketing management.

04) What is mean by Advertising? State the advantages and disadvantages of
advertising. [16]

PTO.



05) Write notes (Any Two)

a)
b)
c)
d)

[5258]

Features of rural marketing.

State the importance of services in marketing.

Factors of rural marketing mix.

Services of marketing & Job opportunities.

®E R

- 1014 2

[16]



Total No. of Questions : 5]

P174
[5258]- 1014
F. Y. B. Com.

MARKETING & SALESMANSHIP
Fundamental of Marketing

(2013 Pattern)
(vt wUTaR)
Fez: 3 ara)
e :- 1)  @F T97 AISIA0 HTa99% ST
2) ITHIHSIT 9k TYATE QU JOT FIAATA.
3) @gYlaTs! @ U T9 TiAHT TgTar.

[Tgor o7 80

o7 1) fouET=it & T8 6.

gy 2) faau vatarume geeh Al T8 .
Tehan
TR ada U uesh @,

Ty7 3) 1) AR geAstemor o, awer a=t ww.
) aE A = g et qEm w1,
Teman
) ‘T wshiEn arer el .
q) faUUE sgETeTIATe WEed |

g7 4) A U R ? ATERIA Wiae — e |,

[16]

[16]

8]
8]

[16]



Ty7 5) dran fergt. (Fivreatdt g) [16]
ar) Tt TR afvreEr

w) fooumE e wgE w.
%) T fouue iy gew
) W uuE g I Gt

®E R
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Total No. of Questions : 5] SEAT No. :

P916 [Total No. of Pages : 2
[5258]-1015
F.Y.B. Com.
CONSUMER PROTECTION AND BUSINESS ETHICS
(2013 Pattern) (Optional)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Define the term 'Consumer'. Explain the scope and importance of consumer
movement. [16]

02) Explain the Redressal machinery under the consumer protection Act, 1986.[16]

OR
Explain the provisions in right to information Act, 2005 under the sections 4
to 6.
03) a) Explain the nature of business ethics. [8]
b)  Write a note on "Ethics of Production". [8]
OR

a)  Write a note on United Nations and Consumer Protection.
b)  Write anote on : Ethics in intellectual Property, Knowledge and Skills.

04) Explain in detail the Ethical Issues in marketing and Human Resource
Management. [16]

035) Write short notes (any two) : [16]
a) Social Responsibility of business.
b) Objectives of consumer Education.
c) Green Initiative
d) Challenger before Voluntary Consumer Organisations (VCO's).

PTO.



Total No. of Questions : 5]

P916
[5258]-1015
F.Y.B. Com.
(2013 Pattern) (Optional)
(TS EUTR)
ge : 3 arE] [ vz 77 - 80

oA o~ 1) & T97 @ISlavl smavaes 3.

2) ITFIHSIA Ik TIAIA QU JT FII1AATA.
3) @gulardt ge st IvT TfAeT ugTat.

g7 1)

797 2)

797 3)

g974)

797 5)

YTgeh AT HehoU-=(l SISl 334, UTgeh Tbacs =l aTH! o Hged T8 4. [16]

UTgeh TIIUT HTAST, 1986 STavia THUTH UTgeh dshR THamur T=om wos &1, [16]
e
HIfget STfrehR shragt, 2005 Wefied het® 4 d 6 avia STHuIT=aT aigat T .

AN) FrEETEe ffagears WEY TY w1 [8]
¥) fuen - ScugaEt Hfifaged [8]
feRant

a1) Teu = :- WY UPHT SATIUT UTEh HXEIUT
) gl WUgl, {9 Hivedaugesh Aifaged arer feu ferar.

oo enfor wa TETeR STERYTIATd A Afiw ged wioeR wE s, [16]

feu =, (FureETd F) [16]
) AT AN AdTEert
) TTEe forerom=h 3R

&) FA GeThR
) TEIUE! UTEh HETEHRE 3ATegH

00
2



Total No. of Questions : 5] SEAT No. :

P175 [Total No. of Pages : 4
[5258]- 1016

F. Y. B. Com.
BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What do you mean by Entrepreneur. Describe in detail the distinction between
Entrepreneur and manager. [16]

02) What is Poverty? Describe in detail the causes and remedies of poverty. [16]
OR

Define the term Business Environment. Explain in detail the types of business
Environment.

03) a) Write a detail note on Entrepreneurship Development Institute of India
(EDII). [8]

b) Explain the role of Mahratta Chamber of Commerce. [8]
OR

a) State the comparison between Entrepreneurial and non- Entrepreneurial
personality.

b)  Write a note on role of Entrepreneurship.

04) Describe entrepreneurial career of Narayan R-murthy. [16]

PTO.



05) Write short notes (Any Two)

a)
b)
c)
d)

Entrepreneurship in Economic Theory.

Entrepreneurial Behaviour.

Maharashtra centre for Entrepreneurship development.

Any successful Entrepreneur from your area.

®E R

[5258] - 1016 2
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Total No. of Questions : 5]

P175
[5258]- 1016

F. Y. B. Com.
BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP
(2013 Pattern)
(vt sUTaR)
;3 ara] [Tzor 7or - 80
AT ;- 1) @F T qSlavt Sravad 3Tg.
2) ITHIHSIT 9k TYATE QU JOT FIAATA.
3) @eularst g@ AT Tv qiAHT TETE.

97 1) IeISTeh AT STTUUTTE hid ST il ? IeIeTeh STTUT SHAEATAH ATeATA A
Teh AITEUul quiT . [16]

Ty 2) NG TEUIR k1A ? SIRGATE SHIR0T AT SUTrEi=T |fereawaor i . [16]

e
SATEATR TATaRuT a1 e SATEAT ol SATaaTeh YaTawue TehR |ieeaqur
T .
gy7 3) A) WRAT SeiTehdl forehma wwen arer afeeay du o, [8]
q) ANST W AT HiAE YiHHT T H 8]
e

37) IENTeRIT Saferadea TN foR SenTehiar SAforaaed AT getaT |r.
) eIl YiHenT AR forer.

T97 4) TR0 AR, Hdt AT SThIA hRIha el qUA . [16]



o7 5) drar fergn (swroreardt g)
1) et Taegmara SeaTeRar

) SR TAH
%) WEWTY ITIehal faema g
¥) qUTET WA ShIvTATa! qoreel Jeieieh

®E R

[5258] - 1016 4
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Total No. of Questions : 5] SEAT No. :

P176 [Total No. of Pages : 4
[5258]- 1017

F. Y. B. Com.
FOUNDATION COURSE IN COMMERCE

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions to candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Define the term 'Partnership'. Describe in detail the advantages and
disadvantages of the Partnership firm. [16]

Q2) a) "Co-operative sector has made significant contribution to the National

Economy"comment. [8]

b) Describe the important features of current Labour Policies in India. [8]
OR

a) Whatis difference between Life and general insurance? [8]

b) Define out sourcing discuss its advantages. [8]

03) "Protection and Education of investor is necessary" Justify. [16]
OR

What do you mean by commodity Exchange? Discuss future of commodity

market in India. [16]

04) Write meaning of following terms (any eight) [16]

a) Primary market

b) Seed Capital

c) Trade mark

d) TOQM

e) Liberalization

f)  Labourintensive

g) Indian standard institution(IST)
h)  Yellow pages

i)  Trade cycle

j)  Hacking

PTO.



05) Write short notes (Any Two)

a)
b)
c)
d)

Advantages of ATM
Drafting of agreement
Stock Market

Organizational Ethics

[5258] - 1017

®E R
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Total No. of Questions : 5]

P176
[5258]- 1017
F. Y. B. Com.
FOUNDATION COURSE IN COMMERCE
(2013 Pattern)
(vt sUTaR)
;3 ara] [Tzor 7or - 80

AT ;- 1) @F T qSlavt Sravad 3Tg.
2) IwdtBSier 3 guf quT FRAATa.

gy 1) \riieriel samEan @, IRier SXere wiae fur dre afea auia &, [16]

97 2) ) ‘ORI AAFTEAd TEhT ST WEedqUl AN g wet . [§]

) HRATdIE weaean gfies aRomst g Sfrs avia w. [8]
feRen

&) e femm snfur weramemoT fomm wes e w0 [8]

F) STSCHITET =t TRt T AT Wae o=l o, [8]

797 3) [ASGUIRETIT TRETUT SATT0T TI1eT0r TR Ty’ ShXor =, [16]
feRan

TEgfafma o w1 ? ‘aRaTdie aegiataeTe wios’ et wa. [16]

g7 4) Wiette aaren e forgr  (hiuragt o1me) [16]
1) wIfoHe TR

¥) o "iead
®) T WTH

g) .= .
3)  IETTROT

W) HHIYUH



) sfeum weg sReepym
7)) T U
™) AR ©5h

) FrRT

79 5) &t fergt. (Srorearet 5)
) u 2. o= wEe
&) SO 7
&) A TR
) wuehHew fAedia

R R
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Total No. of Questions : 5] SEAT No. :

P177 [Total No. of Pages : 2

[5258] - 1018
F.Y. B.Com.
ADDITIONAL ENGLISH
(2013 Pattern)
Text book: Gems of English Prose and Poetry
Edited by: Ashok Chaskar, Vijay Madge, Anand Kulkarni

Time :3 Hours] [Max. Marks :60

Instructions to the candidates:

1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Attempt any One from (A) and One from (B) in about 100 words each. [12]

A) 1) How does Shiva illustrate the rise of poverty and malnutrition in
India?

i)  Write a note on William Wordsworth's attitude to Nature.
B) 1)  Describe Joseph Furtado's fortune teller.

i)  What does Colin Legum say about big cities?

02) Attempt any One from (A) and One from (B) in about 100 words each: [12]
A) 1)  Drawup acharacter sketch of the narrator in 'My Financial Career?

i)  Why does the traveller in Robert Frost's poem take a long time
standing in front of the two paths?

B) i)  Write a critical appreciation of the poem 'Once Upon a Time'

i)  What kind of freedom does Tagore desire for his country?

03) Attempt any One from (A) and One from (B) in about 100 words each: [12]
A) 1)  Whatare Ray's views on quality and quantity of Indian films?

i)  Write a note on the tone of the poem '"When We Two Parted' with
supporting examples.

PTO.



B) )

if)

According to Martin Luther King, when will the African Americans
be satisfied?

Summarise the poem 'Gods'.

04) Attempt any One from (A) and One from (B) in about 100 words each: [12]

A) 1)  Explain the need for self - expression felt by the disadvantaged
sections in India.
i)  Write a critical appreciation of the poem '"The Lotus'.
B) i)  According to Swami Vivekanand, what are the terrible things that
have possessed the earth?
i)  How does Dilip Chitre succeed in making the sad tale of the father
effective? Illustrate your answer with examples.
05) A) Attempt any one from the following in about 100 words: [6]
i)  Comment on Mulk Raj Anand's skills as a story teller depicting the
follies of human nature.
i) Explain the symbolic meaning of the poem 'All the World's a Stage'.
B) Attempt any three of the following: [6]
i)  Give synonyms of the following words or expressions.
a) Popular
b) Pain
i)  Give antonyms of the following words or expressions.
a) Moral
b) Faithful
iii) Give noun forms of the following words.
a) React
b) Congratulate
iv) Choose the correct alternative and rewrite.

[5258]-1018

a) They always (lose/miss) the bus.
b) Rahul'sresearchis onthe (affects/effects) of pollution.

®E R



Total No. of Questions : 5] SEAT No. :

P178

[Total No. of Pages : 3

[5258] - 1019
F.Y. B.Com.

MARATHI (W38Y)
TN 9 SUAIIG RISt
(2013 ded)
YLk ;1) =TT
2) SHTEETER o IUATRTd WS

g :3 aral [ Tor 777 - 60

QAT

1) @ gv7 @isfavr sravas o7g.
2) 3IwEiHmSIeT 37 TvATE QUT T FVIfaara.

37 1)

797 2)

WTefieTdeh! HhIvreaTdl Teht famamer 500 sreqia e forgr. [10]
i) T e, S 9 (Aed)

ii) reEda uiemm

iii) RIS TIAT &

iv) s wRa sfEmT wreh wfee

WTefieTieh! HITETE FgT TATet 3w gAR 20 vegia feg. [10]

i) wIUTd @ Toeue BT, S W SN areat SehE ATHAATge e ?

ii) AT HAIIER AT TN IO W RIS STTed ?

iii) ST. T dTeRae A HvTRvTET e HerTEUg Yuad ?

iv) ST TgATY ATIEART AT IV G T Soerd MYk Fhid eam ST
TEULA <heA 3ATE ?

v) Tig. . weEs ame Siesem fafgva e s ?

vi) @i, faeg wew aren 9 weit 9 wie e ?

vil) =T, arerstt are Tt fofeeean geaes A | ?

viii) Tagars Tuehtes IAT SIUTERIU T fesTet ?

ix) #ff. geRTieig TRISAT AT VAT ATEH AT TE Bl ?

X) WTeR Wit=e faforer ot ferfeeioan qeaerr=it Amar | ?

PT.O.



X1)

Xi1)

2. TE. FeAwvit T gar fodien wiorar waw e amg ?
Al dgoTeRt I ATETUUT Shig Tel ?

T973) WTceiieTdehl shivTeamdl R ToATet 3w forgr. [20]

1)

ii)

iii)

1v)

Vi)

g7 4) )

[5258] - 1019

TEETAT WETETeTaTe 6 YRUITHEN hTgl Shrerasi=n aaea gdl 31,
TS TTaEiedr A 3 .

e THiUT e TR SHaATIA He@lehs AR Ul v Al
Tereneaty Rreaget ANTURETET o<t el HATE. AT AR Wl VIS
oot aam =,

THEAT AR aifdeh Heaued 9 uTiaiive faawor surer’ o
o 3fagw TuR &,

TATTY TAEEA S QRETS 13% SATSISIT= =W shedl 3T, Araaei=
HIYUMTATeh adR hil.

el Fghil ATER hRETAT RIeR faurmardt arfgari ever
HOATT AR, Tt FAfeeees 0.

THSAT ETAETEATdiel TP §aT ST [AHRT=An Jdi= gar @argr o

WTATCTUhT HIUTEATET TehT TET 3T ToAg. [5]
) ‘ufger T’ = Wt feeuer aaaHTEETE AT A .

i) 29 SWMEw amfur 2 e 2017 T=t ‘gifersn dfestor wifgw’
HATARTG FOITT HATAT ATe. TS AR faeT dar .

WTATTOhT hIUTEATET Ut UTRHTIeR @ fore. [5]
1)  Accountant

i) Bill

111) Cashier

1v) Director

v) Finance

vi) Tender
vii) Cash



97 5)

QTeer SUST SaT=aTel WS WISTal <. [10]

Today, electricity is everywhere and we cannot imagine our world
without it. Electricity serves us in our house, factories, offices to light
up streets, on the farms, in the air and even in space. Electricity provides
illumination in the night .It keeps us warm in winter and coal in summer.
It provides us myriads of comforts by running gadgets such as grinders,
mixers, toasters, hot plates, geysers, vacuum cleaners, washing
machines, irons, fans, sewing machines, refrigerators and so many
others. Even the modern age computers are run on electricity.

e
WA 3ATAT Teh AT RIS e &1 THU Ji9eh .

M AE Al A [E. GUEF ATE F AT ufgen TE. afeat g
arrfor Aifafremor fewr. oot aeER TR STETet e sTTueATeT SrafedTd, o
I TAtfehes Tw. T¥TereR stueaTen Rrewftara g IR ATl & <.
FETAT STIHS S AU <aTd o SR &, AT g8 T g A0S TR T6 g, o
wE gl FHA wid @4, § FEEEE J0ATe &, U Hdard. HgThTe,
TARFAER J a1 AGHYT FTATAT ThRD TH ARSI 76d. T
*hae FHEY 9, W I ThRUT IIWT HISIe THal. WAl AT
o= Tudie @ WiSRE 8. U U9 ¥ WM Siaar Peuswi
@M. [97]

R R
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Total No. of Questions : 4] SEAT No. :

P179 [Total No. of Pages : 3
[5258] - 1020
F. Y. B. Com.
f&dt
Jerfeush (Additional)
(2013 ded)
qreAgEh ¢ 1) T uRae
qurgeh — ST guTY qoieht
= gt AT
2) UE URHe -
qurgeh — S Uy qoiet
BT ffar |
awT 3 g2 [qurfes : 60

gerg .~ 1) @4t gv7 sfard gl

2) IRt ot ford sl 9T & gortes 31

37 1)

797 2)

Freafafaa 9 & fFl 9wt & s fofau) [15]
i) e TAvie TETE 3 gt Aigen & T @ femor fome yer fomam 3 7
ii) e wentag @1 wie femor fikm)

iii) “oTEX H TgeRt AR &1 & Telt hY AT Hehell 21’ VAT Ak A1 hgd @ ?
iv) o= St & URER w1 gieg |@eq | S|

V) el hl | | 6] % UTH TET i hiAEt foreRtad <y ?

Frafafae # @ fFdl 7 weat & sw fefRem) [15]
i) ‘“geRlt’ whfaar o HIEAH | HIT FAT HEAT AR ¢ ?

ii) ‘el amht’ wferar @ e forfen ?

iii) ‘“dera’ i § wataty J faeansit Hr gdom = fmor fohw wer e 32
iv) “TTSTE wId THE’ ehfedr H whid THTS Y TS HE A 27

V) T UTH T o T8 TSI @l 9T SRl ATieu ?

PT.O.



T3573) A)

&)

3)

[5258] - 1020

Frfefaa o 9 foret v sraarun 6 wEey et hitvu) [5]

i) o, ® a€t gw ot TR 3@ e | feee omg €1 W W A g
TR AN DT HAT BT AGT Ak =l v gl

i) “‘oxITE, U UA TEEl hi ookt ATUH 3T ATSHT | Tl WIS,
TSN ? STUAT TS Al qFe ATE ST ¢ ? WSS arue o1 Srat ... 177

FrafoRaa & & foret we oo it wwes s fifsm) [5]
i) “‘amEar f SR w

IfcreRaT &% goI @ wl

U@ &R At

el o foeR @

I T | R ATl
i) ‘=R fred deuma

T A1, o ara

TETEETEAT

Frafafea & @ foredl i w9t & U - U arem 4 sW faafeul  [5]
i) <arg famEa & am @ AW foRau)

i) ‘gum @t Wa ¥ futa g uet & am fafeu)

iii) iy M & AUR FHEH & o@w w1 A feaflau)

iv) EE ® ST St o §1eM i AT HYAT Tl

v) @i gy e forew feer o wmea €7

vi) “OnelT wa @ hidar B ki ShTIRAT S ShiAH STETUT ST g 7
vii) ‘TwmER T emedt’ wiaar o @i & g2

viii) =fis =t diten s % foru @ forma fmmT =nfzn)



gv74) A) TAfeRaa ® | fReel uta et & fedt utitius vieg feRam| [5]

3)

[5258] - 1020

1) Agreement

11) Balance

ii1) Branch

iv) Charge

v) Discount

vi) Grant

vii) Loss

viii) Marketing

Frafafea @ @ ffet v o @1 sredes aqan @@ difsol [5]
i) IaueH (TUUTE) T ATHYH TaATO|
ii) US o kT UTAS AT ATRYh faFTOA|

frtefan afede =1 e fageE # areea (e iR [5]

ek Y hl AU VNI, AUAT |IEe, - Txehet gret 25 R’ w =g
g AR o Tehan ¢ | fohg adam g @ favavea w K i & ano
itEd g1 1@ § U@ Ucleh WY hi, IHeh ANTHEhT hl e 95 — T8 wranet
o [ <hl ATAYAHRAT | FAITh TS T AT &1 Ueh SATerd AYET Ueh WY
e ifua 7 g foaega g T 3| e, e, 29, fasm, aeiew
wwhfa enfe fafir forwat &6 et w1 stemT— sremT 29N ® ster - ater
TorehTE gaTt 3| Tk faeresiiel Toamemrarett safea steraT g 369 7
T AT IS ATEaT ¢ | Afe gH STU= WY <Y e safer i farekfaa e
21 Al 36 A &1 TN 33T AT1eu|

®E R



Total No. of Questions : 5] SEAT No. :

P180 [Total No. of Pages : 2

[5258] - 1021
F.Y. B.Com.
GUJARATI

(2013 Pattern) (Regular)

Time :3 hours] [Max. Marks :80

ysi:- 4 oflAell Higl A ue As A uR Qoit e, (45)
1 HIRL el of llRd
2 [Qeuell o Rt
3 HlgUM
¥ uRsH A wRAHE

Y- 2 516 ug As uat oll WA Gl cull. (15)
1 vidua ad o uHlen sA.

2 28l auddotl s el ol @otctat? w3l 53,
Y- 3 5168 ueL A5 Y ol ¥R Gt cull (15)

1 Yot WA Wed ol 5@ D, uAl 52

2 Qa2 ofl vl steat ui Slott Q212 £9lot 2 &2 yHdl,

PTO.



UA Y (B) gsolll vl (5l U Als) (0¢)
1 staelst dietl of gllds ruee 3L,
R e aldl ol ullen 2,
(W) gsollts Gl (515 UL ls ) (0¢)
1 Yot ofl slAlctvll i 2 tultscil,
R At oll o sleatul el Hutell el el
usl U () yeldur ol cul. (s ala As uel) (0¢)
1 gl AUl ol §eiRl o Y el g olal 1AL,
2 udcl st A wal ugl Act A wal Au sRetall A weRel Ua ol izl W3 A2
3 do atd YWyl e 8.
¥ Yelot Rl yg W olld?,
US U (el) UAQuWet {0¢)
cLHIRL alloll LS ol culRUM of HErel M-l Ut Gu.

Yl

U Avtol

AMLZ] Sl A M Al oll UBCUE 1913 A5 UCEWMHL AN,

R R
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Total No. of Questions : 4] SEAT No. :
P181 [Total No. of Pages : 2

[5258] - 1022

F. Y. B. Com.

SINDHI DEVNAGIRI
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates :
All questions are compulsory.

garer ) fsaf wi &2 f§ g2f gaaf s sag ot [20]

1) Toom < s et qRafEt ?

2) g o ww W A o G gd?

3) S TR ¥ T W AR H RSt o oRi gg 2

4) ord dfeR ® o1 S T2

5) ‘‘Fewa it AW’ Ute W Rt W HiFS AW e

6) TadR AT gag | BT Hal 77

7) WTES & EE?

8) dvadt Sraaroft R w=ft wh g2 ?

9) et e ior 7 gE?

10) Treme Saem™ S &% 7 2

11) mada & fiwg @ o1 = fong e

12) dvatt Saamiist st fem o 3o o fodter #§ o sfiest a7
13) siefter it wieett w13 sidier @1 wizgt sagan wdt g3 2
14) T uthisr @ Heamlt B T o ?

PTO.



garer 1) zfeat = i fa ot s seng foat - [20]

1) g g’ wigar ®§ Wi CTi-gEm@ omn e H ofige wigeh
Toreufa & az=arfRg 7w forg farfeat ez ?

2) ““fear ¥ gar g’ # s gt fgenii wizer e aw e anfzfa?
3) ‘“‘aRa t wywe’’ wioar § wew gt sauwerit Tt uia U wreter art

nRg # wiFS weh T TR ?
4)  “‘Sumr SR wiadr # grer WuH aranit wREf TSt off wyet @ urgur
<t ST <hier fet e ?
garer 1) ¥eats o =g fa faf gaet s seg ot - [24]

1) fom st 9 ¥ qegi@ Hidl | e ?

2) wrege St forer fmd whan ?

3) et © fadfter sft foerfter st am & ons & gumen ?

4) viEwTE HUE A fae St arer gUur W @I higel wE R ?

gar IV) &fE fa ftg faw= o aom foren [16]
1) ugrE W S W
2) g S A !

3) Teadt - e T wwgen |
4) waTse ST wIEeE U JaEH.

VVVV
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Total No. of Questions : 5] SEAT No. :

P182 [Total No. of Pages : 2

[5258] - 1023
F.Y. B.Com
URDU GENERAL PAPER

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) Attempt All Questions.
2) Figuers to the left indicate full marks.
A) Bang-e- Dara Part -1
B) Mazammen-e-Mujtaba Hussain

*Lﬁdﬁfﬁﬁ g
—UtSis 2
(15) SERGT V0 G P [y IO e Y
L
~E P AL P S K

(14) bl Tt
L
-iriLﬁJ{rﬁJJJJETLE;L?W:};F
(15) RSN ST P -t P g |1
L
R ) et
(10) B B T R ) L2
AT e T g5
(10) wi figt(areallle Lafs L5 BSNL ()i
R AN ARSI} Y

PT.O.



(16) EPNG AT
Llvfue§) Ll
eme S iumme it e b Puds i e
LUympbr gt LT Entuair i
JusibusS }% f/.r,‘;ﬂ.ri-ﬁ,;uﬁ}w

S Je b K e S L
f—/':ﬁ&'/;f;v?b.‘:k‘/ﬁ c;-—}:-ﬁﬁﬁtf#?@'of%
Ales§2Jb ons?i 2 i.l/ﬁ:('-}pu’?LTfuM
AN ?ﬁ;f' uf‘}L?l'ﬂZuc;-J!UJ%?G?
VUstbA i reteds  Junto A S
vwmﬁqﬁJ%ﬁ'wwm&@&&wf

VVVV
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Total No. of Questions : 5] SEAT No. :

P183 [Total No. of Pages : 4

[5258] - 1024
EFY. B.Com
PERSIAN (GENERAL - Paper)
Adbayat-e-Farsi

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.
2) Figuers to right side indicate full marks.

Q1) Explain with examples. (Any Five) [10]
(ol - 2 et e
E.:-:-._.‘.L-} - ({:;'!A—;—’Lf‘;j - 3
/L-—;—ll 'z_]-:ff) - }_/_:'/-}__" ..___.:-J' - -5-
- o, b=t _F
02) Narrate the following (Any Two). [10]
J £ -2 sl -1
Eqh 4 b -3

03) A) Reproduce in your own words the following story. (Any One) [10]
(F/iw’c.::ﬂl._f -2 &——s{f/_géb’g::!-./; --l
L R
B) Solve any Two. [12]
i)  Explain literary works of Irajmirza.
i)  Draw life sketch of Shaikh saadi.

iii) Explain poetic art of Khayyam.
iv) Explain views of Igbal regarding "Ishque".

04) Explain the couplets in English, Urdu. Marathi or Persian. (Any Ten)  [20]

PT.O.



)a,/u/#abcf{// (12
);/Ulﬁ'jwo{) r‘?

e Sl St e T8 Slns j) 2
Cr e |, S g TGO
ol 7 Jtz s (B
J,-/LJ"!“’ r*"‘" ’,-—-fs"",a;
(S T f_f"‘",:~—-tr~rmf (4
L L P e b wgwl_{gf
NPy B e ;_%.'“*—’.;,I-*-L,ﬂ—;r"’:i-; (5>
G d by Eoll sTeLt L
Cpl b e R 2 T, (©

- ,a/u--*' dJLS'.I"I,t'-'—‘*)-'_.-b__,.ﬂ__,;J

T s 9 U S S g Loley (75
r‘fd}u;ifﬂ"éf’;*—-'f
J/fu{e""m,usiaﬂ (&
J‘ﬂf"é’u‘j’r}*,’ o= F i Les
S G e e G ()
/—»J/L-a-f r’::r-_.—n'_-.:;"_:,;_;
e T sl S e Gr e (o
l(‘:;*'l_.:_/fuﬂr-*’ir iﬂ_-u# 'I-ahr"/
l.’.:-’;"(f""JJGA-‘[’ ol (i
Ujf_ﬁ’wiiwr"
s ol sy e E (2D
rp"fi/*ifr-‘;;,—v S S g

05) A) Translate any Two passages in English, Urdu, or Marathi. [10]

»,.zbfc‘-ﬂ c_.k” Lf~ Lyl O’ﬂﬁ) H?fﬁJ/ﬁr()
-)waﬁ ;ww 8 Lﬂ/am ,:u’” '...J-f,,ﬁ,.u;j(f
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S P NS 'ﬁ 05 5 5 FE) . Lol Su. uuﬂt»*’ar—-w
g p S| 0o S ;J_,IUL#H,;/AJLFMJ b (}u,pjﬂ
.»L*"“,-"n-—-ulr.wwl ;/ﬂfurfspf S
..'Iﬂﬂ-'{,.r" T.r,x’r'/" ;,#:J/,-.Lfd,.rt-ufj,; iy 5#,}:0-.:
I Ir",} :ff-ﬂ-_r,j 5 L I/J;f")fj e s e
lgut-o0 r’,Ji L}*b‘_:,jgllqu‘;;jfb:’ﬂ N
Uffwyﬂ"f_it};f,;tﬂ.:w,_}‘f:i:dﬁ
w,n;,»if- )iwfri—f DLy gy 0 ;1 Gl STEN
x’?id jﬁﬁﬁjr‘z;)ﬂf‘rﬂ'_f—gr;ﬂﬂhij_}‘j};&"f‘;nluﬁjj
- 't_,:rl{.:-"*__,.'ff_f’;gj"’_j {54'.-' \—-J-:'I’,J{F'r‘/'lﬁﬂi"—-ﬂﬁ:
;L;‘,_f"" hﬂyﬂuLjJJIUJjﬁj;rﬁLJfJ;fo& =)
_jj;_}{:f,_,.-____;; L= - l.._..ua"jt._.uL__, ‘:—-'""_F_:"-“"'""',..-"'a-"" e Lot L
Jiﬂfwﬂr/‘«_-w#tffjﬁ;ﬂﬁf/#f{ftf Syl St
mrtﬁa;;u;ww;wmﬁj”’/ﬁf f‘f’f’ﬂ”"
/;gé’iwﬁy o W) oy bys 2 et - FET
_,ux,.l,,.h)f_r‘._.rr U#{;ﬂJ!J;-’g‘”"f—' )/‘,ﬁ'wluiﬂfﬂf'—""“r

%ﬁﬂ@ﬁgiﬂ};’uk,}/ﬁﬂfﬂ Lol wiss s

G2 ko s ool Fa% tf:-f!ﬂﬂf{""aﬁﬁ i

R :—5':_'%-‘;;',?

*—-"J'LJ ;f&;ﬁ;;y’#,##lﬂ-dfjmjg J_J..,- {_ﬂ-ﬁ-a..,}j (42
- >b LKJL:?J,-",.J-"-’U-*J'—'J Y Y L
#wrﬁfﬁ}fdéuﬂpffﬂh;w};,; Fut
Vorh »—fﬁu":ﬁﬂw}}-ﬁu AN ,pi—uf

Mgg‘ﬁ*’uffﬁ OFE ) ';/gu;r KCEL ;J,ﬁ'h-"'

- ' d--"".-""* - u’a'}'tp_
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B) Translate the unseen English passage in Persian, Urdu or Marathi.  [8]

Education should aim at the development of the active tendencies
of the child. Self expression is creative in "Nature" and should be
organised Through various forms of Art, music, dramatics hand work.
Tagore held that through learning a handi craft one's mind is also
strengthened. Children react to stimulation with their whole body and
mind.

VVVV
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Total No. of Questions : 5] SEAT No. :

P184 [Total No. of Pages : 4

[5258] - 1025
F.Y. B.Com
FRENCH

(2013 Pattern)
Time : 2 Hours] [Max. Marks : 60

Instructions to the candidates :
1) All questions are compulsory.
2) Use of dictionary is not allowed.

Q.1. Complétez un dialogue (10)

A. Mme. Pilat arrive a I’hétel ‘Ritz’. Elle a une chambre réservée. Elle a la chambre 410
au quatriiéme étage. Complétez le dialogue.

Mme. Pilat: Bonjour, monsieur. J'ai une chambre réservée ici.
Le réceptionniste :
Mme. Pilat:  Aunom de Mme. Pilat.

Le réceptionniste :

Mme. Pilat: Elle est 4 quel étage ?

Le réceptionniste ; Voici les clés .

Mme. Pilat: Merci. C'est ol ?

Le réceptionniste : . Montez au troisiéme étage. La chambre

est juste en face de |'ascenseur.
Mme. Pilat: D’accord. Et le restaurant, ¢’est ou ?
Le réceptionniste : - En face des escaliers.

ou
B. M. Gérard Laperre va au restaurant ‘Fruits de mer’ avec une collégue. 11 demande deux
couverts. [l commande la salade * Césare’ comme entrée et le poulet roti comme plat principal.
Comme dessert, ils prennent une salade de fruits frais. Avec le repas, ils prennent du vin de
Bourgogne et une bouteille d'eau minérale.

M. Laperre : Bonjour monsieur. J*ai une réservation.

Le réceptionniste :

M. Laperre : M. Laperre.

Le réceptionniste : ?

PT.O.



M. Laperre : Oui, merci... Vous avez la carte, s'il vous plait ?.

Le réceptionniste : ?

M. Laperre : Oui. Nous allons prendre la salade ‘Cesare’ 4 poulet mariné.

Le réceptionniste :

M. Laperre : Du poulet réti avec du riz a I'espagnol.

Le réceptionniste: :

M. Laperre: De la salade de fruits frais. Et comme boisson, deux verres de Bourgogne

et une bouteille d’eau minérale, s'il vous plait.

Q.2. Grammaire et vocabulaire

A. Mettez au pluriei : (2)
1. Il prend I'avion.

2, La secrétaire remercie le directeur,

B. Soulignez I'objet direct : 4)
1. lls aiment ce voyage.

2. Vous offrez ces cadeaux a votre hote.

3. J'ai commandé les bottes.

4. Nous avons pris les plateaux-repas.

C. Complétez avec des prépositions 2)
1. Vous organisez une conférence vos collaborateurs.
2. Vous écrivez vos coordonnés un mel.

E. Choisissez la bonne réponse : (2)

1. C'est toujours le salaire net/brut qui est indiqué sur les offres d’emploi.
2. Le chiffre d’affaires, c’est le nombre d’employes/le montant total des ventes.

F. Dites vrai ou faux : (3)
1. Le SMIC, c’est le salaire minimum en France.

2. En France, quand on est invité au diner chez des amis, on prépare le repas.

3. Un habitant de I’ Australie est australien.

G. Complétez avec des mots donnés :(ouvriers, directions, grande, principale) | (4)
Une entreprise est organisée en et services. Son adresse est appellée
le siege social, Les , les employés, les cadres et les cadres dirigeants sont tous des
salariés de |'entreprise.
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H. Mettez les verbes entre parenthéses au temps indiqué : (4)
1. Diane (prendre — présent) |'avion le 16 décembre.
2. Le directeur général (gérer - futur) I'ensemble des activités de |’ entreprise.
3 Ladirectrice (finir — passé composé) son travail.
4, Le réceptionniste (faire — présent) les réservations.

K. Reliez les deux colonnes )
A B.

1. Une compagnie a) Le boucher.

2. TPE b) Titre de voyage.

3. Une boucherie c) Tres petites entreprises.

4. Le billet d) Maritime.

Q.3. A, Ecrivez en forme de paragraphe (5)

Voici I’organigramme de I’entreprise NOFISA.

Directeur Commercial - M. Richaru Marchandeau

Assistante = Laure Masson H

I | -W‘ L
Responsable des1 esponsable esponsable de
an

marketting- Eric I'administration des
Qirardez ventes - Paul Pinet |

ﬁ/entes -Yvonne Vo Tr

7 attaches 2 chefs de produits
commerciaux

3 assistantes

ou
B. Décrivez le processus de fabrication du jus de pommes.
1. Presser les pommes.
2. Mélanger le jus concentré avec du sucre et de I'eau.
3. Nettoyer les bouteilles dans une machine spéciale.
4. Mettre le jus dans les bouteilles.
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3. Mettre les bouteilles dans des cartons pour envoyer chez des distributeurs.
Q.4. A. Traduisez en anglais: (5

Les salariés frangais sont priés de respecter les horaires de travail et les dates de congés
payes que la direction fixe. Il est interdit de modifier ces horaires et ces dates sans accord de la
Direction,

En cas d’absence, le salari¢ doit informer son responsable hiérarchique. Un certificat
médical est obligatoire en cas de maladie ou d'accident.

B. Traduisez en frangais: (5 au choix) (10)
I. The personnel must respect the security instructions.

2, First, one mixes the vegetable oil.

3. She is a very professional,

4, My mother ordered shoes on this site.

5. These chocolates a made of green tea.

6. Do you want something else?

Q. S, Compréhension
Les espadrilles sont des chaussures d’origine basque, une région au sud-ouest de la

France. Nés en 1890, ces chaussures sont aujourd’hui de nouveau 4 la mode parce que deux
amis, Mathieu Labat et Julien Maisonnave, 4gés de 36 et 37 ans, ont eu |'idée de créer des
modeles modernes.

A. Dites vrai ou faux : (4)

1. Les espadrilles ont d’origine basque.

2. Larégion basque se trouve au sud-ouest de la France.

3. Les espadrilles sont des vétements.

B. Julien Maisonnave et Mathieu Labat sont des amis.

C. Donnez le féminin : nouveau. (1)

VVVV
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Total No. of Questions : 6]
P185

SEAT No. :

[Total No. of Pages : 3

[5258] - 1026
EFY. B.Com
GERMAN (Basic)

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates :

1) All questions are compulsory.

2) 10 marks are for Reading Comprehension and 10 marks for Oral Exam.

Frage . Beantworien Sie die folgenden Fragen! (Nur 05) 1)
Was machen Sie am Wochenende 7

Wie feiern Sie Ihren Geburistag 7

Beschreiben Sie kurz Thr Wohnzimmer 7

Ihr Freund hat seine B.Com Prifung bestanden. Was wilnschen Sie ihm ?

Wiz ist das Wetter heute 7

Sie gehen zu einer Party. Was tragen Sie ?

Welcher Tag ist heute und morgen ?

Warum lernen Sie Deutsch?

Frage I Ubersetzen Sie! [10]
(AJUbersetzen Sie ins Englische! (03}
Heute morgen wm 10 ist unsere Tochter ins Schlafrimmer gekommen, Sie hatte
Hunger ,aber mein Mann wnd ich waren noch mide. Wir sind im Bett geblieben.

I hat unsere Tochter den Hund geweckt und ist mit ihm in die Kiche gegangen.
Tm Regal hat sie Brétchen gefunden.Dann hat sie mit Hasso gefrlihstiickt.

(B} Ubersetzen Sie ins Englische! {03}
Liebe Kirsten,

Hier sind Fotos von meinen Freunden aus dem Intemet.. Jenny und ihre Familie
kommt aus England. Sie wohnen in London. Frederic und seine Familic kommt aus

Frankreich. Ich mitchte Jenny im Sommer besuchen und ihre Familie treffen, Aber
ihre Schwester wohnt nicht in London, sie wohnt in Manchester,

Liebe Grilfie

Ll Bl ok bl

(C) Ubersetzen Sie ins Deutsche! (Mur ) (04
I. Sorry, | had no time yesterday.

2. M, Kohl, please come here.

3. Which umbrella are vou taking?

4. My daughter gets up very early.

Frage 111, Lesen Sie den folgenden Text und beantwaorten Sie die folgenden Frage! [0®]
Hallo Lara,

Bei mir war &5 heute nicht sa toll.

Heute morgen habe ich mal wieder 20 Minuten auf den Schulbus gewartet,

Ich war moch total mikde und hatte Oberhaupt keine Lust fir den Unterricht . Deutsch war
besonders langweilig. Ich habe die Grammatik nicht verstanden. Dann habe ich ein pasr Mal mit
Luisa gesprochen, Deshalb war Herr Lang sauer. “ So, jetzt ist es aber genug ! ™, hat er gesagt
und mir eine Extra Hausaufgabe gegeben,

PTO.



Ubrigens :Luisa hat gesagt, meine neue Frisur passt nicht zu mir. Das stimmt doch nicht,oder ?

Im Matheunterricht haben wir die Klassenarbeit zuriickbekommen. Mit meiner Note bin ich
zufrieden.

Jetzt muss ich eigentlich Hausaufgaben machen,aber ich muss immer wieder an Tim denken.
Das ist der Junge aus der 10. Klasse. Den treffe ich morgen nach der Schule. Dann l4dt er mich
vielleicht zu einer Portion Pommes ein.

Liebe Griife und bis morgen
Ulrike

A. Beanworten Sie die Fragen! (06)
1 Warum war Ulrike miide ?

2 Warum hat Ulrike extra Hausaufgabe bekommen ?
3 Wer ist Tim 7 Wen l&dt er ein?

B. Sind die folgenden Aussagen richtig oder falsch ? (02)

| Lisa hat neue Frisur.

2 Ulrike ist mit ihrer Mathenote zufrieden.

Frage IV. Grammatik! [20]
A. Ergiinzen Sie die Personalpronomen! (Nur 3) (03)

Der Spiegel ist schdn.Ich kaufe .

Die Schuhe sind altmodisch. Méchtestdu ___ haben?

Der Stuhl ist zu groB. Wir brauchen nicht.

Das ist unsere nette Lehrerin. Wir schenken _ eine CD zum Geburtstag.

Haben _ morgen Zeit, Herr Diirre?

Ergiinzen Sie die Possessivpronomen! (Nur 3) (03)

Wir besuchen am Wochenende Grofeltern.

Das ist Peter. Haus liegt dem Hotel gegeniiber.

Meine Kollegin kocht gern. Das ist Kochbuch.

Wann ist denn Hochzeit, Marit und Mario?

Hey Christine, wie alt ist denn Sohn jetzt?

. Ergiinzen Sie richtige bestimmte oder unbestimmte Artikeln! (Nur 3) (03)

Wir haben heute nur ____ Deutschunterricht.

Was kaufst du zum Geburtstag ? - Mantel.

Da in Freiburg binich in ____ Schule gegangen.

Kommen Sie aus ____ Schweiz ?

A: Ich michte Wasser. B:Daist Flasche.

. Schreiben Sie das richtige Modalverb! (Nur 3) (03)

Mein Kopf tut sehr weh. Ich zum Arzt gehen.

2 Inihrer Freizeit _ der Auslénder einen Sprachkurs machen.

Meine Kinder gut Englisch.

Im Unterricht du nicht am Handy sprechen,

Richard nicht schwimmen. Er hat es nie gelernt.

. Ergiinzen Sie die richtige Priposition! (Nur 3) N (03)

e B i - e o T e T e
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Anna, stell bitte das Worterbuch _____ Tisch.

Der Stadtplan hingt ___ Wand im Hottelzimmer.

Fabian geht heute Abend _____ Kino.

Rudi arbeitet Thyssen Krupp & Co.

Schreiben Sie die folgenden Sitze im Perfekt! (Nur 3) (03)
Wir gehen heute in die Disko.

Rilke schreibt schine Gedichte.

Marie telefoniert mit ihrer Mutter.,

Wann rdumt ihr eure Zimmer auf?

Viktoria studiert Philosophie an der Universitdt Wien.

. Bilden Sie Fragen! (Nur 2) (02)
Ja, ich spreche Spanisch auch.

Wir kommen aus Indien .

Walter spielt Klavier sehr gut.

Frage V. Wortschatz! [06]
A. Was passt nicht ? (02)

1. Einen Zettel / eine Nachricht/ eine Pizza/einen Brief : schreiben

2. Kartoffeln/ Tee/ Wasser / Licht : kochen

3. die Steuern / das Wetter / 20 Euro / viel Geld ; bezahlen

4. einen Freund / eine Chefin / einen Schliissel : anrufen

B. Was passt? (04)
. Kaffee : trinsken / Suppe :
2. Ein Buch : aufmachen / einen Computer :
3. singen : laut / fahren:
4, Lampe : die / Ventilator :

Frage VI. Schreiben Sie eine Ansichtskarte und einen Zettel/ eine SMS! [06]

(A) Sie sind auf einer Reise nach Mahabaleshwar. Schreiben Sie eine Ansichtskarte (04)
an Thren Freund/ Thre Freundin! Thr Freund/Ihre Freundin wohnt in Miinchen,
Deutschland.

W=k = ey R R

(B) Schreiben Sie einen Zettel ODER eine SMS fiir Tim. Sie mdchte mit ihm  (02)
Tennis spielen gehen. Sie haben am Samstagnachmittag Zeit.

VVVVv
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Total No. of Questions : 5] SEAT No. :
P186 [Total No. of Pages : 3
[5258] - 1027
F. Y. B. Com
SANSKRIT
(STRHRAT)
(2013 Pattern)
3w : 3 ard] [ o1 71 : 60
G 1) & T97 a9 e,

2) @d ¥vaTe GHA U AR

Q1) Translate into English or Marathi any one from Section 'A' & any one from
Section 'B'. [12]

gEteuehl 31 fTAuTTTd el SIvTeaTdl Threl 9 & fOWTWTTdier ShivreaTdt Tehta Susil foham

TREIT HTHTaR .

Section - A

fawmT - a1

i) amiHegEwEE, AFMaaEHE, MameTEE, garuneee 9 fawe

ST HeRETIT : TReTUT, fEaman:aeme™ o a91 g i Toee Suasa s
IEER TR TYIG AT STRITAY, ARy o HIARUIEY IhuTER Jid aar
TEAH A, WRAET FAWT ARTNGRIUT hdsd Waq |

i)  oTfed HIYTEU: HIEHTT TUTH HARH YA | 05 JFTa eI o sa6 (e

egfarafuult 9 gert Ufdadfd T | 91 9 7% WEUA: TarRaeddl g sie
T fasfa | omgy o yEe Fatug TEERagEl AT Wepun: gETEE: |
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Section - B
favym - =
i) o1 d sEIgve o, ager aa T, i Femar |

e FATGETARISHEA Ud GaTH u4: |
UT3: HEfe THATH Had e e |
2T 1 &= aursTu SAfaefushe vt arafa ||

02) Explain with reference to the context any one from Section A and any one

from Section B. [12]
3 TauTITH el HRIvTEATE ThEl T F AU hivTeTgl Threl THeH TIEientun .
Section - A
foam - &
i) fusamae Waqus: |

ii) TETITEERT FRUTEmET waEs =R |

Section - B
um - =

i) 5k IR e |

i) TR fomieET waeaRad ad SWaideeH |

03) Write the summary of the lesson ‘“Turstreaa:’ [12]
“TorsTreda:” @ ureTern www feret.
OR /feran
Write the summary of mroTfRerfersrr:
TTUTHERATIeRR: AT3TaT TR foTart.
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04) Fully Explain lesson ‘wrgqgm’ [12]
HIEHER T UT8 AR TIY .
OR /feRar
Explain Tw&amgdi & s from swreasmetaqieg:

Q5) Write short notes on any two of the following. [12]
WA IeTdeh! hIVTETET grgier Srar forer.
) U= |
i) WAt |
i) AT |
iv) eruEqw: |
NAYAYAY
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Total No. of Questions : 5] SEAT No. :

P187 [Total No. of Pages : 5

[5258] - 1028
FY. B.Com.
ARABIC - GEN - I (Optional Group)

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.
2) Figuers to right side indicate full marks.
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Total No. of Questions : 5] SEAT No. :

P188 [Total No. of Pages : 4

[5258] - 1029
F. Y. B. Com.
FOUNDATION COURSE (Restructuring)

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) What are causes of Economic Inequality in India? Suggest measures to reduce
Economic Inequality. [16]

Q2) What are the causes of Low productivity of Indian agriculture? Suggest
measures to increase agricultural productivity. [16]

OR

Explain the concept of State, Government and Nation,

03) a) Whatis Democracy? What are the various types of Democracy in India.[8]
b) Whatis society? State and explain the characteristics of Indian Society.[8]

OR
a)  Explain the effects of science and technology on agriculture and industries.

b) Whatis'Self management'? What is the importance of self management?

04) What is Time Management? What is the need and importance of Time
Management? [16]

PT.O.



05) Write note on any Two of the following.

a)
b)
c)
d)

Concept of Rule of Law.

Meaning and Importance of Goal setting.

Characteristics of Science.

Characteristics of Indian culture.

VVVV
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Total No. of Questions : 5]

P188
[5258] - 1029
F. Y. B. Com.
UTIA ATATERH (ARIa)
(2013 Pattern)
(ATST EUTR)
gez : 3 @] [ TzuT 7797 : 80
AT - 1) & 397 @isfav srAard anga.

2) FyETEAT ITET FIHEAT T FIATE T FIAT TR
3) agyrarst g@ s TvTalAET IETE.

gg7l) RATdre erfeler fowmaeit wror wurd ? et foromar st swoamETdt sut

. [16]
gg72)  WRATAIA ereaT it Ieareeshd<! S0l hIUT ? IcuTgehdl ATGIAUATATS! ST
CELR [16]

feman

ST, TR d Y IT HheddT T &,

gg73) ) ARIME TEUNA ki ? URATdIA eAehvge fafaer Ter shivm ? [8]
¥) TH TEUN HE? WRAE gumret afvtss anE we w1 [8]
e
) It T AR IR A 9 TEEEE AT Uiy T %,
q) TAHHTEATIA UM T ? CaATATATIAT W il AT ?

Ty74) ABA HEEATUT FEUH HE ? AT HATEATIATH ! TS & Heged w1 72 ?[16]



gy75)  Wreftaudh wmurerd ger feur fore. [16]
)  HECATAT ATTSATE FhedHT.
) eAuEtadt = o 9 "gea.
%) fmmmt abwm.
T) AR e ST,

\YAYAYAY%
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Total No. of Questions : 4] SEAT No. :

P189 [Total No. of Pages : 2
[5258] - 1030
EFY. B.Com. (Vocational Course)
COMPUTER APPLICATIONS - 1
(2013 Pattern) (Theory)
Time : 2 Hours] [Max. Marks : 40

Instructions to the candidates :

D

Draw a neat-labeled diagram wherever necessary.

2) Figures to the right indicate full marks.

Q1) Answer the following : (Any Five) [10]
a) Hexadecimal
b) BCD
c) OMR
d) Word processing
e) Pendrive
f)  Toolbar
g) Unix
02) Answer the following : (Any two) [10]
a) Explain following devices.
i)  Mouse
1) Keyboard
b) Define computer. What are the characteristics of computer?
c)  Write steps to write an email to customer.

PT.O.



Q3) Solve the following :

a)

b)

c)

d)

Convert from Hexadecimal to Binary :
(10),, = 0,

Convert from Binary to Decimal :
(1001000), = (),,

Binary Addition :

111001+ 1111

Convert from Decimal to Binary :
25),,= (),

Convert from Binary to Octal :
(10101010), = (),

04) Answer the following :

Explain steps for drawing graphs in Ms-Excel.

OR

What is search engine? What are the uses of search engine?

VVVV
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Total No. of Questions : 4] SEAT No. :

P190 [Total No. of Pages : 1

[5258] - 1031
F.Y. B.Com. (Vocational)
ADVERTISING, SALES PROMOTION & SALES
MANAGEMENT
Marketing Communication (Paper - I)

(2013 Pattern)
Time : 2 Hours] [Max. Marks : 40

Instructions to the candidates :
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Define Marketing and Discuss the importance of Marketing. [10]
OR

Explain the concept of marketing and discuss the role of marketing department.

Q2) What is sales promotion? Discuss the tools used in sales promotion.  [10]
OR

Explain the concept of Event Management and discuss the types of event.

03) Explain the process of communication in detail. [10]
OR

Explain the principals of communication.

Q4) Write Short Notes (Any two) [10]
a) Public Relation.
b) Multi-level marketing.
c) E-marketing.
d) Direct marketing.
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TAX PROCEDURES AND PRACTICES
Indian Tax System & Income Tax
(2013 Pattern) (Paper - 1)
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Instructions to the candidates :

1) All questions are compulsory.
2) Figures to the right indicate full marks.
Q1) Answer in 20 words each. (Any Five) [10]
a)  What is the meaning of "Tax'?
b)  Write down any four examples of Direct-Taxes.
c)  Which are the various heads if Income?
d) What is the 'Charge' of Income Tax?
e) Define the term "Gross Total Income".
f)  What do you mean by CBDT & CBEC?
g) Define 'Assessee' u/s 2 (7) of Income Tax Act, 1961.
02) Answer in 50 words each. (Any Two) : [8]
a) What are the Disadvantages of Direct-Taxes?
b) What is the Importance of PAN (Permanent Account Number)?
c) What is the Importance of Taxation in India?
d) Define "Income" u/s 2 (24) of Income Tax Act, 1961.

PT.O.



03) Answer in 150 words each. (Any Two) : [10]

a)  Write down difference between 'Direct Taxes' & 'Indirect Taxes'.

b)  Write down note on seventh schedule of the constitution of India.

c) What are the various characteristics of Indirect Taxes?

d) Write down provisions relating to 'Residential status' under Income Tax
Act, 19617

04) Answer in 500 words. (Any one) : [12]

a) Explain in detail various canons of Taxation advocated by Adam smith

& other Economist.
OR
b) Mrs. Radhika an Employee of selzon Pvt. Itd. Furnishing her details of

Income for the period 01/04/2016 to 31/03/2017 are as follows :
i)  Basic Salary ¥ 43,000/- per month.
i) Dearness allowance ¥ 16,000/- per month.

iii) House Rent Allowance received by her ¥ 9,000/- per month, rent
paid by her X 12,500/- per month.

iv) Education Allowance received by her ¥ 150/- per month per child
for 3 children.

v)  Hostel Allowance received by her ¥ 375/- per month per child for 3
children.

vi) Interest on Provident fund @ 12% % 18,000/-

vil) Employees contribution to provident fund ¥ 2500/- per month.
viii) Life Insurance premium % 2000/- per month.

ix) Profession Tax / Tax on Employment ¥ 2500/- per annum.

Compute the Taxable salary of Mrs. Radhika and her tax liability
for Assessment year 2017-2018.
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F.Y. B.Com. (Vocational)
COMPUTER APPLICATIONS - 11

(2013 Pattern) (Paper - II)
Time : 2 Hours] [Max. Marks : 40

Instructions to the candidates :
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Answer the following - (Any Four) [20]
a) Explain do-while loop with syntax and example.
b) What is flowchart? Draw basic symbols used in flowchart.
c) Explainthe following :
i)  Procedural Language
i)  Visual Programming Language
d) Explain any two Input and Output functions used in C.
e) Explain briefly the following Data Types used in C
i) int
i) char

f)  Explain Increment and Decrement operators used in C language.

Q2) Write a program to solve following : (Any Two) [10]
a) Write a'C' program to calculate simple interest.
b) Write a'C' program to display area of circle.

c) Write a'C' program to display square and cube of a number.

PT.O.



03) Answer the following - (Any Two) [10]
a) Explain if --------- else statement with syntax and example.
b) Define:
i)  Assembler
i) Compiler

c) Explain strlen() and strrev() functions with syntax and example.
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[5258] - 1034
F.Y. B.Com. (Vocational)

ADVERTISING, SALES PROMOTION AND SALES
MANAGEMENT

Advertising (Paper - II)

(2013 Pattern)
Time : 2 Hours] [Max. Marks : 40

Instructions to the candidates :
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) What is advertising? Discuss the various functions of advertising. [10]
OR

Define advertising and discuss the advantages and limitations of advertising.

02) What is Ad creation? Explain the essentials of good advertising layout. [10]
OR

Explain the meaning, concept & methods of Advertising Budget.

03) What do you mean by advertising? Explain the various types of advertising
objectives. [10]

OR

Describe the need and importance of rural advertising in India.

PT.O.



04) Write Shorts Notes (Any Two) [10]
a) Appeals in advertising.
b) Careers in marketing & advertising.
c) Ethical aspects in advertising.

d) Role of women in Advertising.
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E.Y. B.Com. (Vocational)
TAX PROCEDURE AND PRACTICES
ML.VAT Act 2002 and C.S.T. Act (Paper - 1I)

(2013 Pattern)
Time : 2 Hours] [Max. Marks : 40

Instructions to the candidates :
1) All questions are compulsory.
2) Figures on right indicate marks.

Q1) Answer in 20 words each. (Any five) [10]
a)  What is mean by '"VAT'? Enumerate two advantages?
b)  Which are the Authorities under M. VAT Act?
c) What is mean by sec. 5 of M.VAT Act 2002?
d) Explain the provisions of sec. 14 of C.S.T. Act 1956.

e) Whoisrequired to file correct, complete and self consistent return under
M.VAT Act? In which forms?

f)  What is mean by 'Appropriate state' under C.S.T. Act?
g)  What are the types of Audit under M.VAT Act?

Q2) Answer in 50 words each. (Any Two) [8]
a) What are the objects of enactment of central sales tax Act 19567
b) How the 'Sales Price' determined under M.VAT Act 2002?

c) Whois called U.R.D. dealer? What are the consequences if dealer is
U.R.D. dealer?

d) What is meant by 'Sales in the course of import and export'?

PT.O.



03) Answer in 150 words each (Any Two) [10]
a) Enumerate exempted sales under M.VAT Act?
b) Enumerate and discuss various 'Forms' under C.S.T. Act 1956.
c) Discuss provisions for 'Registration of dealer's under M.VAT Act 20027

d) What is mean by "Turnover of sale'? How is it determined under C.S.T.
Act 19567

Q4) Answer in brief (Any One) [12]

a) What is mean by 'Assessment'? What are the types of Assessments
under M.VAT Act 2002?

b) When is sale or purchase of goods said to take place in the course of
inter-state trade or commerce under C.S.T. Act 1956?
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